November 4, 2019

The second of two numbers is 4 times the
first. Their sum is 50. Find the numbers
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The sum of two numbers is 45. The firstis 9
less than the second. Find the numbers.

X-9+ x =45
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The larger of two numbers is 12 more than
the smaller. Their sum is 84. Find the
numbers
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Together a necklace and a bracelet cost
$192. Find the price of each if the necklace

éost as much as the graceley.
X+ x = 192

b+3b=133
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Grandpa's age is 6 years less than 6 times
Junior's age. The sum of their ages is 78.
Find each of their ages.
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Find two numbers whose sum is 92, if the
first is 4 more than 7 times the second.

S+ Secon
+v|S+4  _9g
Bs+r=aq =%

- T4
s =% Sl
% <

S=\ %)




November 4, 2019




